Math Test #1 Review 2 (Circle Geometry) – Answer Key
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radius

inscribed angle

. chord

. perpendicular biscctor

. a) 24° b) 48°

6.x = 48°, y = 48°

7. No, the central angle inscribed by the same arc as the
inscribed angle has a measure that is twice as large.
8.18°

9. 90°

10.28°

11. Example: The perpendicular biscctor of a chord
passcs through the centre of the circle.

12. Example: She should have found the perpendicular
biscctor of her string and the perpendicular bisector of a
sccond string. The intersection of the two perpendicular
biscctors would be the location of the centre of the table.
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